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1. A model giraffe Is made to a scale of 1:150.
What does this tell you about:
a} the height of the actual giraffe
b) the height of the model giraffe?

¢) the height of the actual giraffe if the
model is 3,5 cm tall.

2. Amap has the scale:

[ | I ]
Om 10m 20m 50m

Use the scale bar to determine:
a) how many centimetres on the map represent an actual distance of:

i) 20m

i} 50m

lii} 100m

b) how many metres on the ground are represented on the map by:

a1
i) -z-cm

i) 8am
iii) 20cm
3. Amap has a scale of 2 cm representing 1 km.

If two villages are 8 cm apart on the map, what is the actual distance
between the villages?

4, A map has a scale of 1 : 400.
Calculate the real distances represented on the map by:
a) 8cm :
b) 23cm
5. Amodel is made using the scale 1 : 20.

The table gives details of the model and the real Moses Mabhida Sport
Stadium in Durban. Complete the table. ‘

a) | length of the field 600 cm

b) | height of the stadium 30m
¢} | height of entrance gate 20 cm

d) | width of entrance gate 5m
a) | width of field 450 cm

f) | number of seats ) 70000

&. A map has dimensions 25 ¢cm by 37,5 cm.

The scale printed on it is 1:2 000.

The map is reduced in size to fit a space of 10 cm by 15 cm in a book.
a) How must the scale of the map in the book be adapted?

b) What are the dimensions on the map of the rectangular area on
the ground?
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TRIANGLES

I Trimq\e-b‘s\ﬁapa with 2 sides emd B angles.
%) : !

U f
2. Seolene trianale > no equal sides | no equel c\ng\es.
1 < v v .
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| 5. Acuﬂce-ohq\écl triangle -> all angles are less then Q.
< NJ ' .

6. Right — aveled  triomgle -5 one amle s 6,
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h. Obtuse — ancled triangle > one angle is qrecter than 0.
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2. he sum 041 ‘t\ae cmq\e.s o'p a 'l:r'lc:\mq\e. s 180,

o~ A.f\ o
B/ \ A+ B+ C = 13O

9. e e,vc'ter'uor' ana\e_ o a "L“v—iani}\e equals the sum o the
: < Lozl

wviterior oppeosite  angles. /j\
- ; | -~}




8. Calculate the size of N,

6. BCD is a straight line segment. Calculate the size of x.
A

68>

e e e sl

B8 e

7. Calculate the size of x and then the size of {.

@UADQILA'\' ERAL_

1 Quadreilederal —» shepe with 4 srcles emd 4 cmq\e.s

btaq@na‘ divides & quqclm\ctbern\ wto 2 'l:mawq\es

2. —‘\ne, cmqles o a quqdmlalrerol add up_to 360

7 e b L
c\iagjonal __u___\_,, : S lb + e 4+ d = 360"’
e £ |

A, Equal sides are mrke.ci wt’dq equa\ numb&f‘ O.G strokes.

W D
|]7 Ly

5. Paralle\ \W\QS are mCtr'kec:l w:t\q e_qJ,Lo.\ aumber O‘P aAryoOwS.

2 ey

H 3 =

7

6. Square > 4 equa\ gicles o.mcl 4- e.tha\ ama\es (‘,‘IOO )
Vv - Vv v

i oppgg*;'[‘l:& sldes are pdr‘a“eLv
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Bt s :
Déwifoadet- from Stanmorephysics.com
Find the length of all the unknown sides and angles in the Tollowing quadrilaterals.
Give reasons to justify your statements. (Also recall that the sum of the angles of a

quadrilateral is 360°.)
1 7 cm C v
. D .‘-——”T’L'/ -
100° g 4, The perimeter of RSTU is 23 cm.
. 4 cm [
R ——7-:2}”#- u
. — , 105°
80° __»— 4 cm 3em
#” s 120°
) oo A
2' j 6cm M )
__.....i{-—-. — - — i
78° 102° _ N
) ' 5. PQRSisa rectangle and has a perimeter of 40 cm.
S L, B
K B L el B
(x)cm
3. ABCDisa kite. D ‘
Q — R
7 cm
/ 1059 €
A <755°
\\\\___\ 4-cm
B
CONGRY ERCY

1. Conaruest = iderticel shopes > sewme shepe and size.
w " ¥ ¥

- corresponding sides and angles _are ecqual.
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